ANAS Y
ESMTIAFEEABIRAE

modulnk

[onveyingisystem
TwRe
BEFLTH /

Absorption nralk Wﬁ

Profession makes excellence]
Excellence makes trust



TES] XIEASY
g i

Application Samples

P8 2kbl Equipment Overflow Line

BRI Eh

Equipment Overflow Line




IS

XIEAS Y
Application Samples g =

O ]
A e AR o

e e L

nrE

.ll.'.l.lllu

BeadEEEh

Equipment Maintenance

BRAHEZED

Equipment Maintenance




RIFISEp XIEASY
w g

Application Samples

BEAHHZED

Equipment Maintenance

BEARHEHEER

Equipment Maintenance




RIFISEp XIEASY
w g

Application Samples

(35 L5
Equipment Overflow Line




FRNE XIEASY
i g

Introduction to products

WTERHALAMEE. Fa. SR, TEARAY, BTISRA. BEhTlr=@ie—, LAmReER; MRASRMEES, B
SHHERIPRBIRRL, REHL.

There are two main categories of ladders, platforms and guardrail products on the market today, namely industrial and civilian. The
industrial products are relatively single, mostly carbon steel welding products; the variety of civilian products,various forms but no
modular,systematic.

Tl Z AR A SR ™
The industrial products are relatively single,mostly are carbon steel and
aluminum alloy welding products

e B

Carbon steel ladder Alununum alloy ladder

IUAERE PSR, SHEREHC, SR 5EE. 555, AIRGEAR. T RIAMEREAIE. SHERRRE, RIEEELAa.
On-site welding, on-site spraying, long production cycle, FKEFEMEAFFA.

difficult to adjust structure, easy to rust. Flexible assembly, no surface treatment on site, short

production cycle, adjustable structure, beautiful surface
and long lasting gloss.




FRNE XIEASY
8 M

Introduction to products

A 2P ARG

Why did xieasy develop this system product? g _
1. RRREUAIEE, DUABTAICHRE; iy =y
1.Solve the problem of on-site welding and on-site spraying. - ERE

2 FETIENE R ;

2.Rich the marker existing product.

3 BRRERHIIIE ., S R0NR;

3.Solve the problem of heavy and rusting iron products.
4. RS EIRE ;

4.Solve the problem of difficult maintenance.

5. fRAGZERSOT. TTE. RINEREIRE.

5.Solve the problem of dealer design. calculation and quotation.

eI E AL

Features of xieasy stair and platform system

1. {EFmRER; BES; KMNTIHMERASEEREE;
1.Aluminum products are light, High strength;Most parts are made
of high-strength aluminum alloy.

2 R1: iREAN HBES.

2.Size:small tolerance and high precision.

T ARG DRI RIEEER. TREZENERNS
EEMESESNIM T ERERTES . B8R, MWmR
EMEREENDIAENE. HE, BERFNRIGIIRES
TEMEFRLIRN, ESREEMHETaRG A EF AT
H R E S ERIRARSS, HERFEK.

The application of the stair and platform system in the industrial
field is powerful. Inclusiveness and adaptability between
components makes it easy for the high requested industrial
production environment of more widely, more complex, and high
product flexibility. With the accumulation of user feedback and
uninterrupted R&D investment, the aluminum alloy stair and
platform system can provide more convenient services for
industrial production and meet user needs.

04



05

FRNE XIEASY
i 8 M

Introduction to products

TG F-E RS0 UA A

Industrial stair and platform system is divided into four basic types

IAA:

—EFmA. ZEFmB. ZUREESEC, IGPESHED, UTHRAZY, BE, CHl, DA, HAPARIBRIMNEABILLIEE, HMitikE. AR
A—Er&@, BEAZE R, BRERGE_EHRERANRESTAR, HMEAER), HUARERIESRIRER.

Single-layer products are A, multi-layer products are B, multi-function boarding trolley are C, temporary climbing plattforms are D. hereinafter, type
A, type B, type C, type D. and the two basic types of the A type B type have the same structure and compatible with each other. TypeAis a
one layer product and Type B is a multilayer product. Type B is only silghtly different from TypeA at the comer of the second floor escalator. The
other parts are the same. Here, the type A sample is used as a reference.

A0

=

K=
Guardrail

REHHR
Safety board

BEIDHEIY
Step ladder

B

The amrest joint

| ke SR B A PRE L
Stud base Pivot foot Stair joint Step line joint



RN XIEASY
ig &=

Introduction to products

—J2hhA

One layer product A

TEA—EBEREREE, RGRENERR, HEHEF0E. 45F560E=MAEMERE, HibX. Y. H. L. FEATEEXHSX, YiRKA
6000mm, HE AR A6000mm .

The following figure is a sketch of single-layer products. The dimension is shown in the figure.E has three angles of 30 degrees,45 degrees and 60
degrees. Other X\ Y. H\ L. F can be customized. X and Y are 6000mm maximum, and H can be 6000mm max.

E H X Y L F

EH | OB | B | OE=W | =S | e

45°  [2000mm|2000mm|2000mm| 560mm | 800mm

45° © |30°

22 B

Multi-layer product B

TERZE~RREE, RFnTERR, ERWSEXRIE=H
#4% :30°, 45°560°, HA. B. C. D. G¥JATEENX, Hth

e | e | jEw | R | ER) B. C. X, Y&AA6000mm, AGAFTH6000mm.
4000mm|2000mm|{2000mm|560mm | 800mm

A B C D G

The following figure is a sketch of single-layer products. The

300 dimension is shown in the figure. W and E have three

specifications:30 degrees,45 degrees and 60 degrees. and
A. B\ C. D\ Gcan be customized. of which B, C. XandY are
6000mm maximum, and A is 6000mm max.




FRNE XIEASY
i 8 M

Introduction to products

E2)[Has LR el
Multi—-function boarding trolley—C type
ERIRSIRHET, HBTAEA L, REEF R, RARRRERT.

Under the premise of ensuring safety, assist in the completion of high-altitude operations and imprpve production efficiency. Slove problems
in a timely manner.

T _ H 1 N

al

Eia = BEEE [EzE
Guardrai Platform Step ladder
\ o Y] ]
, B
1 t‘
4
BRFREL B ESE SIAERRE
The amrrest joint Ladder bearing rack Stud base
F’.'
=
PSR EHWHE
Stair joint Castor-heavy duty

IS D

Temporary climbing platforms-D type
TERLARTREE, B, SAESUR SRS, 1838,
HESIERPE SR,

Climbing platform can be used for car overhaul file cabinets,
shelves ascending And various temporary repairs such as
maintenance, inspection, sampling, etc.

“
) S

PR BUpines

Step profile End cap

M

AERA EERE
Heavy-duty profile Castor-heavy duty




BARER

Technical index

BrEr-5 255215

Force Analysis of stair and platform system

wvon Mises(MN/m~2)

BS 727 496.000
l TE 5B 840.000
71440 184.000
G4 296 528.000
57152 B72 000
50009 216.000
42 865 560000
35721 904.000
28578 248,000
21434 592.000
I 14 290 937000
7 147 280.500
3614.700

EE - 140 000 000.0

(_) URES({mm)

9.347 e+ 000
I B.568e+ 000
7.789¢+ 000
70100+ 000

6.231e+ 000
5.452e+000

4.673e+ 000
3. 895%¢+ 000
3.116e+000
2.337e+ 000

1.558e+ 000
7.789¢+ 000
L.000e « 000

FEEERE: 1100mm

XIEASY
ig = W

FER: HXEXEF2000mmX2000mmX2000mmd & :300mmX300m
mMEIRIEINE (—) EFRFFINH, FEIMIKN (A48 §9, WEFAR
FHIRE, 6063-TSHIERREE ob=145MPA, HHBZERNEF R, FEER
KEMLEAEPLIEXY, FrEEF101=85.7MPA6063-T5$E& &HIEARE
Eob=145MPANEIEHEH: o1<obBEREFRTIBHPEATRIRES
<GB4053.3-2009R - A HIERI &/ MErEi N -

Platform size: length x width x height = 2000mmx2000mmx2000mm to platform
center 300mmx300mm position (1) concentrated force analysis, applying 11
KN(about 1.1tons) of force, observe the force state of the platform, The yield
strength of 6063-T5 is ob=145MPA, and the calculation result is as shown in the
figure.The large position is the red area in the figure, and the pressure is
01=85.7MPA .The yield strength of 6063-T5 ab=145MPA From the data:o1<cb
Also refer to intemational industrial protective railings and steel platform

<GB4053.3-2009>,The minimum load specified by the steel platform is:
1. FEFAXIEFOEEAR1000mm, HKA300mm ESH EREEFRSR N

1KNER )T,

1.In the center of the platform area, the distance between the center is 1000mm and
the side length is 300mm.Can withstand less than 1KN concentrated load.

2. PEESTHET T AR A KT 10mmekBEAY1/200, FEEU

B, NE (2) AIELETFREZTNHATKN, SATHEHRI.347Tmm, I

10mm. LUTFETERBRHRBERIER T, TATESIRETRTES

BIEEK

2.The deflection of the platform under design load is not more than 10mm or span
1/200,both take small values. From(Fig.2), it can be seen than the platform is under
stress.11KN,the maximum deformation is 9.347mm,less than 10mm.This platform is

far larger than the national standard without special load requirements.

SHPZERLERENS00NE AT =R & SR RIS
R, NE () PEIRASHEATHEY1-8.415mm. ME () Fa]
BHAEIMMCAMZNAIREAREML, 0a=6441MPA SERERREINLEHHET
HE<GBJ9-87>:

12T SKF SRR RASTEER, HERERe I AEESE /K TarE0.5KN/
m, EARSVHREERRHBIEN100 (WAHkFSE) - K#S: Y2=1100/100=
11mm. BEEH#E6063-TSHIEAREob=145MPA Fild: Y1<Y2 oa<cb FfLA
HAFETER B AR ERIER T, AEESIREETI=EK .
Guardrail height:1100mm

Apply a force of 500N to the position of the guard rail. Calculate the
amount of deformation of the guardrail. The stress conditions encountered
with the guardrail are available from the data in Figure(1).The maximum
deformation amount Y1=8.415mm.Red can be seen from Figure(2).The
color part is the most stressed part, 0a=64.41MPA Refer to Intemational
Building Structure Load Specification<GBJ9-87>:railings,handrails,After
the installation of the ladder section, its structural bearing capacity should
be able to withstand the level.The load is 0.5KN/m,and the maximum
allowable deflection value should not exceed h/100(h is handrail
height).Find: Y2=1100/100=11mm.lt is known that the yield strength of
aluminum 6063-T5 is ob=145MPA So:Y1<Y2 ca<cb Therefore this
guardrail meets the country without special load requirements. The

standard for building guardrails.

q.“: URES({mm) von Mises{N/m~2)
| B.415e+000 54 415 536.000
| I T.714e+000 59047 T64.000

- 7.013e+000 - 53679 992.000
6.311e+000 48 312 216.000
5,610« +000 - 42 944 444.000
4,909+ 000 37576 672.000
4. 208e+000 32 208 896.000
3,506+ 000 26 841 124.000
2. B05e+000 21 473 350.000
2.104¢+000 . - 16105 576,000
1,403+ 000 10737 803.000
7.013+000 5 370 029.000
L.000e + 000 2255832

H

& (=)

B ()

08



SR XIEASY
i g

Technical index

FHESEE: 1100mm

URES({mm) von Mises(N/m~2)

SHPEERIEREIN360NEA . T8 S MZ RN ER, M
2.8532+000 133 308 120.000 ; -
- B — (B) FHIRASERATREY1-28.53mm. ME (7X) HAIRELL G

e ' AR IBAEML, 0a=133. 31MPA. SEREFMUMZEHNHAIEERIE

2.378e+000
- 2.1400+000
1.902e+000
1.664e+000
1.42Te+000
1.189e+000

111 050 096.000
99 981 08E.000
B8 B72 080.000
77763 072.000
66 654 060.000
55 545 048.000
44 436 040.000
33 327 030.000

—ERSY: HEEMBERRL <GB17888. 3-2008> Sl e Tk, TIETRE
FEEHEEDRA0. 36KN/M,  ERFETMEAIFScAtTius. FEXMIERT, JAR
EY2TU BT 30mm. BAE6063-TSRIEARE ob=145MPA, B4A: Y1<Y2
ca<ob FRLUFAEES B PASRERIER T, AEEFRmES U=

K.
Guardrail height:1100mm
9.510e+000 A force of 360 N is applied to the position of the guard rail. Calculate

7.133e+000 the change of the guardrail The amount of stress and the stress on the

22 218 020.000
11 109 010.000
0.000

4.755e+000

2.378e+000
1.000e+000

guardrail, from Figure (1) The data gives the maximum deformation
Y1=25.53mm. It can be seen from the figure(2) that the red part is the
most stres ,Site, 0a=133. 31MPA. Refer to intemational mechanical safety
vz vz -~ entry Mechanical fixing faciles Part lll: Stair steps and
(E) (I \) guardrails<GB17888. 3-2008> with mechanical safety industrial stairs, work
platform and channel load requirements are 0.36KN/M, this load is
applied to The top of pillar. In this case, the maximum deflection Y2
dose not change. More than 30mm.lt is known that the yield strength of
aluminum 6063-T5 is ob=145MPA. KNOWN:Y1<Y2 ca<ob therefore, this
guardrail is full without special load requirements. The requirements of the

national standard for industrial fences.

PSR 1200mm

SRR E M 2500NATF7. THEERAIE, 2 SERATZEIRIR 1S

A, NE () PHBIERSEEATRE, NE () FREHIeifiss URES{mm)
FFZRIY1=1. OImmAIBAERIL, 0a=41. 351IMPA. SEREFFUBZREHN l ANLOwST00

HUBHIERERHEE = 2555 : GBI ::::'x
<GB17888. 3-2008> R BEsRETESK: B/ VT 1200mmEd, T:sm s
1. SKNEIIRZM7E 100mmx100mm BRI b, (RIS —SRasAr TS B ¢ 73604000
REPERENL. ELHRERT, BARAREASGBTFSER1/3005% 58940+ 000
6mm, “EFEVIME. HRIEDSRFEARS, Y2=4mm, E5H#R6063-T5H) 505204000
JERRIERE ob=145MPA. T40: Y1<Y2 caob Bl BsRIETA SRRy :::‘"x
BT, EATERIMESERAEEK . i

Guardrail height:1200mm (£) :::::x

A force of 2500 N is applied to the pedal icon position . Calculate 84200+ 000
the pedal change The amount of shape and the stress on the 10000 + 000
pedal, from Figure (1). The maximum amount of deformation can be

obtained from the data (Figure2). The color part is the most part of

the force Y1=1.01mm, oa=1.351MPA. Refer to the intemational von Mises(N/m~2)

mechanical safety to enter the mechanical solid The third part of the

41350 508,000
d ’ ) ' 37905 480.000
facility: stair steps and guardrails<GB17888.3-2008n the step ladder 34480 452800
load requirements: width is less than or equal. At 1200mm, the - 31015 4256.000
force of 1.5KN should be distributed in the area of 17125 370.000
100mmx100mm. On the domain, one edge of the area is in front of :::i: :::':::
the width of the stairs. Edge line. Under the action of the load, the 17235 314.000
deflection of the pedal should not exceed 1/300 or 6mm of the 13 790 285.000
span, whichever is smaller. According to the above Conditions can be = 10245 257.000
. - . . . ( }\ ) & 900 229.000
obtained,Y2=4mm It is knowm that the yield strength of aluminum

3455 201.000
6063-T5 is ob=145MPA. Known:Y1<Y2 ca<cb Therefore, this pedal is 10173.109
far from the case without special load requirements. The requirements EE7 : 145 000 020.000

for pedals in national standards.




BARER

Technical index

BrBrE 750

Stair and platform system(sps)

M F ARG TERNANREHRE, 42, SY2
SKMHA, SEEEE.

XIEASY
ig = W

A, RGETEMRBEMMER, /RIS, Bib. SRFEREEER, 1ZR5uURRHERE, 4

The SPS is suitable for many indoor and outdoor applications from the simplest raillings to complicated staris and working platforms without any
extra maching.Connection is realized effortlessly by simply tightening clamping screw.

B PR RATER

Safety Requirement of Stair and Platform

> FEEIHEE b, BRIBIRBRRIF—E, aniEiaFEAMSE— R EA
R —E BT, RERILUEL 15%
The distance between steps in the same section should be the same
The distance between the first step and the ground level can be max.
15% less than the distance between other steps.

> B h AR T 250mm.
Vertical distance between steps h not more than 250mm.

> R TE R/ NMITT600mm,  FRAEFIREA800mm, ZitiE% AR
IR, FERERTHEANE]1000mm,
The net width of the step should be not less than 600mm The standard
width is 800mm. The width should be increased to 1000mm where
people come across on the step.

> BEIRE LRIV 80mm.
Depth of step t not less than 80mm.

»a AR, fNERESRIA30° , 45°, 60° .
Alis for the angle of the stair. The standard angle is as 30°,
45°and 60°.

> B—HEER Y EFS EANATERIE 3000mm.
The increasing height of each stair section should be not more than
3000mm.

PRI ZATEOR

Safety Requirement of Guardrail

max.1500

‘ yigs
max.500
max.500

|

min.1100

100.min

900.min

max.1500

max.500

min.1100

max.500

)

> BEFEZ 8GR AERE AT 500mm, FHEEEE
TEEF 1100mm,
The vertical distance of two guardrail can not be more than 500mm
and the total height of the guardrail can not be less than 1100mm.
> HERWENTEEEE, AITEFAmMMREMIR .
The kick plate is optional to be installed at both sides of platform to
avoid the falling of goods.
» IPREFAN A B AERE A AT 1500mm.
The distance between two posts can not be more than 1500mm.
> B ESEBT500mme BB BIRKIGRT, TR,
The guardrail is required where the platform height is more than
500mm or the platform passes the dangerous area.
> B EO—NEER B .
The guardrail is required to be installed at least one side of the step.
> TEEIFRERERER T, $PAhERBERERIHRIFE
75mmZE 120mmzZ &l
The guardrail interruption, if any, is better to be75-120mm.

10



11

FmRs|

Products Index

XIEAS Y
ig = W

IS |
Products Index
RARER $RE 5153
Technical Data - - - - - - Page 08-10 Alunminum Profle - ---- - Page 12-15 Accessories - - - - - - Page 16-27
REO 40 158 HED 40 218 | | PBEARR LA MEEEIAS 405
Alunminum Tube Alunminum Tube v_;-/"" Footrail Profile | 40x160 44& o
® 40 1slot ® 40 2slots == ¥ | 20x120 Stepped Profle
%l_ %,f-‘ Pg40 40x160 .’&t
Page12 Page12 Page12 Page13
WL 4051 BUEHA0 FF40x40 | | B 405140x80 HHAOFFUON
40x240 51& AR Strut Profile o Fa 618 Stut Profile P P 6#& Strut Profile o ?c“"’:
Stepped Profile Pg40 40x40 4slots 5‘-.. : Pg40 40x80 6slots -!h f.--" Pg40 40x120 %.r'-’
PG40 40x240 - 3 Bslots L‘
5slots -
Page13 Page13 Page14 Page14
Bt A0FFIA0X120 Rt 40 25140x160 B Y E BEHAR | fj "
81 Strut Profle sn -~ || 10%& Strut Profile Stair Joint | Step Ladder B
Pg40 40x120 "&Tk/’ Pg4040x160 10slots . {-J 4
8slots e = d i,
-5-_"}.- i -;?f-""--.._‘ i
Page14 Page15 Page16 Page17
gt hvzz52:3 = iR = N HRFEL
Support Comet Strut Base ! Guardrail Joint i The Armrest Joint :‘\
r i F
Page19 Page20
STeHEk etk || g SIRHOEEM
Stud Connectors Panel Mounting Base Plate Pivot Foot
Block /
Page20 Page21 Page22-23 Page24
RS 51 FHEXR
Baes Angle Castor-Heavy Duty Hand Drive Support
Page25 Page26 Page27




4REHF
Aluminum Profile

$5E 040 148
Alunminum Tube®40 1slot

®40

@ LD
L
Uep!)
aar

$6.8(M8)

XIEASY
ig = W

FEaRER

Description

& M4E Ix(cm?)
Moment of
Inertia

&M% ly(cm?)
Moment of
Inertia

ZEEWx(cm?)
Moment of
Resistance

ZEEWy(cmd)
Moment of
Resistance

VTR S
Part No.

$HE ©40 118
Alunminum_Tube ®40 1slot

5.7

6.5

285

3.25

IPS.AP40.01

$HE 040 21%
Alunminum Tube®40 2slot

‘ ®40

02
1L
U

$6.8(M8)

PR
Description

1B ME Ix(cm?)
Moment of
Inertia

&i44E ly(cm?)
Moment of
Inertia

ZEEWx(cm?)
Moment of
Resistance

LHEEWy(cm?)
Moment of
Resistance

RS
Part No.

$BE ©40 21
Alunminum_Tube 40 2slot

5

6.5

2'5

3.25

IPS.AP40.02

FAiBEZRMREY A 20x120
Footrail Profile 20x120

20

o

T

AR

Description

& M4E Ix(cm?)

Moment of
Inertia

1B4EREly(cm?)
Moment of
Inertia

Z4EEWx(cmd)
Moment of
Resistance

ZEEWy(cm?)
Moment of
Resistance

TS
Part No.

FAERRZREER B4 20x 120
Footrail Profile 20x120

14

69.2

14

1.5

IPS.AP20120.01




13

REM

Aluminum Profile

MR 40F51 40x160 448
Stepped Profile Pg40 40x160

XIEASY
ig = W

160
120
~ k‘g*::}
&J ™ HLJ—J o -y
3 s
¥ =
T 5
D N C jD‘ < ;t T
D12(V14)
PR | IRMEIXCem) | iRMEEly(em?) HEWx(em?) | ZSEEWy(emd) = TS
Description Moment of Moment of Moment of Moment of | (kg/m: Part No.
Inertia Inertia Resistance Resistance Mass
ViRt 40x160 41%
Stepped Profile  40x160 4slots 226 421.8 1.3 52.7 8135 IPS.AP40160.04
BT 405:7%140x240 5%
Stepped Profile Pgd0 40x240 5slots
240
200
S o - j s El
i X I
=]
p e
(] MG
12(M14)
PR | IRMEIXCm) | iRMEEly(em?) ZHEWx(em?) | ZSEEWYy(emd) = TS
Description Moment of Moment of Moment of Moment of | C(kg/m: Part No.
Inertia Inertia Resistance Resistance Mass
MithAlkt 40x240 548
Stepped Profle 40x240 5slots 322 1176.7 16.1 98.1 4.8 IPS.AP40240.05
Aft 40F5140x40 418
Strut Profile Pg40 40x40 4slots
40
30
C‘ﬂ@ 5 7
N ‘ 51} o
g8 — — ¢ &
JJA’\; ’—;’ '*
so dl -
0 | eyt
5X5(M6) D12(M14)
PR | EEXCmY) | RIEElyCem?) THEWx(em?) | ZEEWY(emd) 2 TTERS
Description Moment of Moment of Moment of Moment of | (kg/m) Part No.
Inertia Inertia Resistance Resistance Mass
BUEF 40x40 4FE
Strut Profile 40x40 4slots 9.2 9.2 46 46 1.6 A.01.10.4040.04




Aluminum Profile

s XIEASY
5 i

Bt 4045114080 64F
Strut Profile Pg40 40x80 6slots

80
70
40
[ ~ -
ol ~
L -
? 0
A‘ L]
F‘Vj - L]
T -
5X5(M6) O12(M14) |10.2]
FrEtER | RMEEXem®) | RIEElyCem?) THEWx(Cm?) | ZTEEWy(Emd) = TSRS
Description Moment of Moment of Moment of Moment of | (kg/m) Part No.
Inertia Inertia Resistance Resistance Mass
Rkt 40x80 6FE
Strut Profile 40x80 6slofs 16.6 63.2 8.3 15.8 2.7 A.01.10.4080.06

Bkt 405140120 618
Strut Profile Pg40 40x120 6slots

120
80

() ‘ S e = 7 <
L = 7
) 0
ik SR (N
J‘T’L ; S ’H
L ] i j
5X5(M6) O12(M14) 10.2
Famtsg | SR Ix(em®) BMEREly(cm?) TEEWx(emd) | ZEEWy(emd) = RS
Description Moment of Moment of Moment of Moment of | (kg/m) Part No.
Inertia Inertia Resistance Resistance Mass
Akt 40x120 648
Strut Profile 40x120 6slots 18.6 153.3 9.3 25.55 3.35 A.01.10.40120.06
Bkt 40%751140x120 81&
Strut Profile Pg40 40x120 8slots
120
110 = —
80 > L
\ g M
b~ . 7
g 0
o C\/ (Lr Yo
I8 T - ‘ L]
J‘T’L ’—L
m =
i u% BixcIE
5X5(M6) O012(M14) 10 2
PR | MR em?) BB ly(cm?) ZEEWx(cmd) ZEEWy(cmd) B TSRS
Description Moment of Moment of Moment of Moment of | (kg/m) Part No.
Inertia Inertia Resistance Resistance Mass
At 40x120 8
Strut Profile 40x120 8slots 24.2 195.3 121 346 3.7 A.01.10.40120.08

14



s XIEASY
i 8

Aluminum Profile

BItt 40%751140x160 1048
Strut Profile Pg40 40x160 10slots

160
150

120
40

2 dbandbandbmn db
5 ar (. :}ﬁ
SR WS e x

|

|

|
)
&
C

I ay N

(|

m]]‘[

h

11

5X5(M6) O12(M14) 102
PR | RMEEXemY) | RIEElyCem?) THEWx(em?) | ZEEWY(emd) =8 TR
Description Moment of Moment of Moment of Moment of | (kg/m Part No.
Inertia Inertia Resistance Resistance Mass
AF40x160 1075
Strut Profile 40x160 10slots 316 435.7 15.8 545 4.8 A.01.10.40160.10

15



o XIEASY
g 5 W

Accessories

S

Stair Joint

FAT40x120mmFn40x160mmEAFEAIE DA R MBDAESFN T SHESE BRI,

For 40x120mm and 40x160mm profiles are as a connection between the step ladder side frame and
the platform frame.

R BRERESE

Material: carbon steel galvanized.

H Ml Fastening Set GCl Fastening Set

M8x20 Bolt M8x16 Bolt
< plated < plated
M14—M8
hole reducer bolt M8 T Nut
nickel plated nickel plated
%

=

=
=

S

FrEREA ZELAMH TS
Description Fastening Set Part No.

30° B REEY-AL
30°Stair Joint-TypeA

30° ESmEE4-BAY
30°Stair Joint-TypeB

30° BEAEEE-CE
30°Stair Joint-TypeC
45° PbrEE-AR
45°Stair Joint-TypeA
45° SRt BE
45°Stair Joint-TypeB
45° PSP -CR
45°Stair Joint-TypeC
60° BSURIERE-AR
60°Stair Joint-TypeA

60° BELREE-BAY
60°Stair Joint-TypeB

60° ESAER4-CR
60°Stair Joint-TypeC

6xHM IPS.AC.SJ.30A.120

3xHM IPS.AC.SJ.30B.120

3xHM+3XGC IPS.AC.SJ.30C.120

6xHM IPS.AC.SJ.45A.120

3xHM IPS.AC.SJ.45B.120

3xHM+3XGC IPS.AC.SJ.45C.120

6xHM IPS.AC.SJ.60A.120

3xHM IPS.AC.SJ.60B.120

3xHM+3XGC IPS.AC.SJ.60C.120




B

Accessories

IR

Step Ladder

PR TEERERAN. SAMBLETHM0x160mmFMOx240mmATREEBAALER .

It is mainly composed of special 40x160mm and 40x240mm steps with anti-skid line design.
WM BEE

Material: aluminum alloy

77
7
Ny

,|‘
4

B

XIEAS Y
ig = W

Fronfid

Description

VIS
Part No.

600-1200

IPS.AC.SL.40160

600-1200

IPS.AC.SL.40240

600-1200

IPS.AC.SL.40320

#F: HEHE (REEH

Note:1. Offer per set(including the clamps and fasteners)
L{EFTHRIEE FEEKEN (600-1200mm)

ex:IPS. AC. SL. 40160-1200

\7 L=1200mm
Part No. iT#wS




et XIEASY
g 5 W

Accessories

Sl

Support Corner

SHAEAHRIEMIEFREAE NI S IR BT, (ERPREBET— AR, FATRSEFEERZE
TR OmmBERYIBIRR

The support comer and the step spacer profile are inserted into the groove rail between the two platform panels,enabling
the user to establish a complete surface. The platform splint creates a 10mm wide gap between the platform pane.

MER: BEE

Material: aluminum alloy

FJ | Fastening Set
? g Bt

Zinc plated

M8 Spring Washer
e < 5

zinc plated

8 Vesher

ZinG pated

M8 T Nut
el e

PR ZELRH TINERS
Description Fastening Set Part No.

SiEftt
Support Comer 2XFJ IPS.AC.SC.4020

Suppof*(‘i%g 4XFJ IPS.AC.SC.4060




B

Accessories

NS

Strut Base

RTFEW° #ARKF 5401 20mmiESERAIELE .

Fixing of hanrail and 40x120mm frame profiles for 90° comers of the platform.

MR BEREESE

Material: carbon steel galvanized

XIEASY
ig = W

HMl Fastening Set GCl Fastening Set

M8x16 Bolt
MEx20 Bolt i e
S paea

M8 T Nut
nickel plated

PR
Description

SELR
Fastening Set

IS
Part No.

SIAESTRE
Strut Base

1XHM+6XGC

IPS.AC.SB.40

Pk

Guardrail Joint

PRI F RS Z (S TR B

Guardrail joints provide a secure connection between the armrest.

ME: EFRRE

Material: die-cast aluminum alloy

FH | Fastening Set

PEl Fastering Set FQl Fastening Set

Mex25Bolt
5 e

M8 Washer
~Coropmer

zinc plated

? SOL
zinc plated
= zinc plated ® Ve

zinc plated

M8 T Nut
ik piated

PR
Description

SELR
Fastening Set

VTR S
Part No.

=tk
Guardrail joint

IXFH+1IXFQ+2XPE

IPS.AC.GJ.01




et XIEASY
g 5 W

Accessories

S RIPS

The Armrest Joint

LA AN A (BN TR R EIH R

Hanrail joints provide a secure connection between the armrests and the struts.
MhR: EHFREE

Material: die-cast aluminum alloy

FHl Fastening Set PEl Fastening Set

PRI T
2ne pated @ M8x16 Bolt
= FrrTr
BVt = zinc plated
© e

PR HELRM TS
Description Fastening Set Part No.

Rk
The Amrest Joint 2XFH+2XPE IPS.AC.AJ.01

ik

Stud Connectors

SR RIAER F RIS (B AR B

Stud connectors provide a secure connection between the handrail and the struts.
MR EFREE

Material: die-cast aluminum alloy

W | Fastening Set FG | Fastening Set
@ g o250t
L ..
' Zinc plated @ _ Mext6Bolt
B plated
M8 Spring Washer
e <t plated
M8 Washer M6 T Nut
O i

BELEM RS
Description Fastening Set Part No.

RVZEZESS
StudlGonnectors IXW+2XFG IPS.AC.SC.01




o XIEASY
g 5 W

Accessories

Bk

Panel Mounting Block

ISSRA T SEMRER, TENFEEESTEEERIR .

Panel Mounting Block are used for the connection of plates and different facets are suitable for plates of
different thickness.

#MER: JHR-PVC 28-THR Hif: FiR-Ee

Material: Clamp-PVC nut-stainless Color: mounting block-Black

FMl Fastening Set FN| Fastening Set FPl Fastering Set

RkR-104
Panel Mounting Block ~10-4 '472::%10«:‘ '4% '%

M5 Washer M Washer M6 Washer
°‘ zinc plated °‘ zinc plated °‘ zinc plated

FEantR Bt ?P%g SELRM TR S

Description
HRIER-10-4 (BaqMiLEs PG40
Panel Mounting Block ~10-4 (pcs)

RRER-10-4 (BREfE
Panel Mounting Block -104 (sef) - F.02.10.04.ST

Fastening Set Part No.

F.02.10.04




et XIEASY
g 5 W

Accessories

(el

Base Plate

PR IR T MRS, EREAE S T TR RSAE .

To support strut profile at the bottom. Expansion bolts chocked into floor can offer a high stability.
B BER REAE: EERK

Material: cast steel Surface treatment: black electrophoresis.

C | Fastening Set AAl Fastening Set AZ | Fastening Set

\,-‘ M8 Flange Nut
inc pated
= MO Base Plte Washer
<" P
MBX25 T Bolt zinc plated 2inc plated
nickel plated

] O ﬂ‘ o O O
Pl 2 B1-4080
Base Plate-4080
O o o
40x40 40x80 | 80x80
10.5 A 4xP13
%)
i il "/\\ / oY
o]
i 3 =4 // _
HE g
2 mf
[a}
> /
40 & Bl C
i D E
. L
FEanfig L A B c D E ZELEY | EE (@ VIR S
Description | (mm) |(mm) [(mm) |(mm) [(mm) [(mm) Fastening Set Mass Part No.
PR RH4080 (5/MiEES) Base Plate4080(pcs) 126 40 20 60 40 80 2XAZ 1930 E.01.4080

PREFZA-4080 (AXEMEEA) Base Plate-4080(setA) 126 40 20 60 | 40 | 80 |4XC+3XAA+2XAZ 2240 | E.01.4080.STA

FRB-4080 (RREfL1B) Base Plate4080(setB) | 126 | 40 | 20 | 60 | 40 | 80 |6XC+3XAA+2XAZ | 2290 | E.01.4080.STB

PRETZAH4080 (RREH#EEC) Base Plate-4080(setC) 126 40 20 60 40 80 | 8XC+3XAA+2XAZ 2340 | E.01.4080.STC
PR AL / Base Plate Gasket . 9 E.01.01
@ RETSRE

Base Plate Gasker
PRl A T EATE, EEREEM SEEEE.

To adjust the degree of vertical profile and uneven groud.

22



23

B

Accessories

Pt il

Base Plate

PR IR T RS, (ERAE S E M TERRSAE .

To support strut profile at the bottom. Expansion bolts chocked into floor can offer a high stability.
B BER REAE: EEEK

Material: cast steel Surface treatment: black electrophoresis.

@ TR
Base Plate Gasker
FRETST A R T HEATE, RN SHEERE.

To adjust the degree of vertical profile and uneven groud.

XIEASY
ig = W

C | Fastening Set EQl Fastening Set

nickel plated

(D), 8 Flange Nut
Qi

M10x100 expansion bol
! B TEol R E—

Pt i-4040 Rl S B-4080
Base Plate-4040 Base Plate-4080
C
10.5 |
&
8 S e 3
0,4% : © I
105
D_ 17 D 17
= o__o© 0 <«
) d E '9) d\ . -
; < (@) ; < O
oF 1o i@
<) o0 <) Q @) o]
40X40 o o
B 40x80
L
FEERIEAR L w A B C D ZEEY | 2 (9 VIS
Description (mm) (mm) (mm) (mm) (mm) (mm) | Fastening Set Mass Part No.
PREASZAI4040 (B MIEER)
Base Plate4040(pcs) 100 100 70 70 40 40 629 E.02.4040
FRERSCRF4040 (FRE(E
Base Plate-4040(sef) 100 100 70 70 40 40 4xC+HAXEQ 1275 E.02.4040.ST
PREAZAI4080 (B MiEE)
Base Plate-4080(pcs) 140 100 70 110 40 80 753 E.02.4080
PREASZAI080 (FREMLE)
Base Plate-4080(set) 140 100 70 110 40 80 6xC+4XEQ 1400 E.02.4080.ST
PRl SRR/
Base Plate Gasket ~\ 9 E.01.01




B

Accessories

SIS

Pivot Foot

SRMASMARSIEE T RS ERMESRG, ETAERY), ERTEEEEEtE.

IS AR AT TR S

It is used to support the frame structure that needs to be adjusted in height. and the adjustment angle is small,
suitable for relatively flat groud. The rod and chassis of this foot can be split by tools.

MR BRI TN

Material: carbon steel galvanized/stainless

FrERER Max.Static Load TR
Description (mm) BAESE (N) Part No.

M16X158 20000 E. 06.60. 16. 160

M20X178 25000 E. 06.60. 20. 180

SRS R

Pivot Foot-zinc plated steel

M16x158 20000 E. 06.80. 16. 160

M20x178 25000 E. 06.80.20. 180

M16X158 20000 E. 06.60. 16. 160. SS

M20X178 25000 E. 06.60.20. 180. SS
SRS

Pivot Foot-Stainless steel

M16x158 20000 E. 06.80. 16.160. SS

M20x178 25000 E. 06.80.20.180.SS




i XIEASTY
g =

Accessories

P HAl

Base Angle
RSZBECA S, BRSERER, HEREMREEE .
The base angles cooperate with the legs and have the function of auxiliary support to make the frame more stable

and firm.
MR: R it EEEk
Material: carbon steel Color: black electrophoresis

C | Fastening Set AA | Fastening Set

. PRI
zinc plated

M8x20 T Bolt
il pated

4 M10x100 expansion bolt
lated

Zinc pl

WA/ A
Base Angle-Left/Right

PR ZELRH VIR S
Description Fastening Set Part No.

HRSBI-7 (MR E12L
Base Angle-Left (pcs)

RS- A (R
Base Angle-Left (';et) EA2LST

Base Angle-Right (pcs) e

- (BB
Base Angle-Right (set) E12RST

IRSZHI-Zo+ 48 (RRHESD) E12p
Base Angle-Right (Pair) e

-7+ (RRIREHED)
Base Angle-L+R (set) E12P.ST




B

Accessories

e

Castor-Heavy Duty
ER TSRS, REREIE.

It is used forlarge platforms for frequently moving work ladders with strong carrying.

B PU JREEMR: BRERSESE

Material: PU Base material: carbon steel galvanized.

XIEAS Y
w8

Frmitd
Description

[

%
Wheel Width(mm)

Hifar
Load (N)

RS
Part No.

45

2900

IPS.AC.CH.125

370
Castor-Heavy Duty

45

3500

IPS.AC.CH.150




B

Accessories

RIS

Hand Drive Support

BERTAETEEBTIRE, ETRETESE, KEREI5E.

Suitable for large platforms and mobile work ladders, easy to adjust platform height, strong load bearing capacity.

B BERIEE

Material: carbon steel galvanized.

XIEAS Y
w8

Fastening Set

M8x25 Bolt
e pltes

g8 Sorng Washer

e Zinc plated

© g ter
e piated

Ptk
Description

ZELEHF

Fastening Set

VTR S
Part No.

FREXR
Hand Drive Support

6xJ

IPS. AC. HD. 40




Kt XIEAS Y
B

Accessories

M FERATERERESAMAMATAR, BTHRRANE, AR TDIARRRREMECEEH, BA=MMEE30° , 45° M60°
SRR T =EMAERER -

Stair and platform system is mainly composed of step profiles and flexible handrails allowing acomplete modular design. It is compatible with
the components from Modular Assembly Systems due to its flexibility, three pitches of 30°, 45° and 60° available to satisfiled different request.

MREARGHEARSS: [ AR [ R [ [cR [ [oR!
Basic technical data of platform :

EEKE (mm) AR 300-6000mmSEREIZ A
Length of platform(mm) Recommended value should be between 300-6000mm

HEEETE 500-3000mm3EEIZ A
Recommended value should be between

asE (mm)

Width of platform(mm) | 500-3000mm
| BRI ETE600-1280mmIBREIZ A

B ENEEE (mm)

Usable width of step(mm) Recommended value should be between

600-1280mm

BEsE (kg) ERINEETE 150kgTEEIZ A
Load capacity of step(mm) Recommended value should be within 150kg

30° 60°

EAEE
Height of platform

MR ESERTFRA -
Handrail of stair and platform :
TR HhES
Stairs and Platform

H#fData | TikSPage

M D|/

IiEEaRSha 8 /Inquiry List of SPS

AEIBFR/Company

Hitik/Address

E£Z A/Contanct

&R 7)/Department

FEIE/Tell

Hi#E/Email




I riER DB A RRAT

EBiE: 0417-3686668
{8 0417-36B86668
failk: www.xi-easy.com BE#E; sales@xi-easy.com
HehE: &E (iI5) SERFREREOHAEKINEAHEECS

ELAE, BINAREAD. KBRSSEXFHROMRSELDNTN, RNEBEEENE,AERSRANR.

We win when cur customers win, Our long-term sirategic relationships provide unigee ingights and the
ability to daliver excaplional custemer experiences and solutions



